Question 1: Integer Division without using divisor operator 
Without using the / operator, create a function/method that takes two integers and returns their integer quotient, exactly replicating the behavior of the / operator and supporting all valid integer values. If the numbers are not evenly divisible, return the integer quotient and ignore the remainder. You may use the JDK or the standard template library. Your solution will be evaluated on correctness, runtime complexity (big-O), and adherence to coding best practices. 

A complete answer will include the following:
1. Document your assumptions
1. Explain your approach and how you intend to solve the problem
1. Provide code comments where applicable
1. Explain the big-O run time complexity of your solution. Justify your answer.
1. Write test cases.
Example:
24/4 = 6
33/6 = 5

You can use one of the following code skeletons for your solution, or feel free to use the language of your choice.  
	Java:

public static int div (int num, int denom) {
}
	C++:

int divide(int num, int denom) {
}










[bookmark: _GoBack]Question 2: Find most popular sequence 
Amazon has many types of web pages, commonly represented by a short string called Page Type. A website log file contains customer ID and Page Type of the page the customer has visited for all customers. This data is stored in a time-sorted order (latest entry is last). You should implement a function to find the most popular sequence of 3 page visits for all customers. A page type sequence for a given customer is the order in which the customer visits different pages on the website. So a 3 page type sequence for a given customer is the combination of 3 consecutive pages that the customer visits on the website. The most popular 3 page sequence will be the most frequently occurring sequence across all customers. In case of a tie, just return one of the sequences. You may use the JDK or the standard template library. Your solution will be evaluated on correctness, runtime complexity (big-O), and adherence to coding best practices.

A complete answer will include the following:

1. Document your assumptions
1. Explain your approach and how you intend to solve the problem
1. Provide code comments where applicable
1. Explain the big-O run time complexity of your solution. Justify your answer.

Example:

Here is the format of the log file:

CustomerID        Page Type
---------------------------
cust1             Gateway
cust8             Gateway
cust8             Gateway
cust5             Detail
cust1             Search
cust8             Search
cust1             Detail
cust5             Search
cust5             YourAccount
cust5             Detail
cust8             Detail
cust8             Gateway
cust2             Help

Return: [Gateway, Search, Detail] since both cust1 and cust8 include that sequence and hence it occurs twice. Note: cust5 follows [Detail, Search, YourAccount] and [Search, YourAccount, Detail], which occur only once.

You can use one of the following code skeletons for your solution, or feel free to use the language of your choice. 
	Java:

public class LogLine {
    public long timestamp;
    public String customerId;
    public String pageType;
}

List<String> mostPopularThreePageSequence(List <LogLine> logFileInput) {

}

	C++:

struct logline {
    long timestamp;
    string customerId;
    string pageType;
};

string* mostPopularThreePageSequence (logline[] logFileInput) {

}





